CCNA 2 Module 8 Exam Visual Descriptions.

The question is as follows:

Workstation 1 sent a data packet to Workstation 4.  It never arrived because Fa0/0 interface went down…

(question incomplete refer exam)

The diagram depicts Workstation 1 and 2 connected directly to a layer 2 network switch by means of straight through network cables.  The switch is also directly connected Router A’s Fast Ethernet port or Fa0/0.  Router A is connected by serial link through Router A’s serial interface and Router B serial interface S0/0.  Router B is also connected through is second serial interface S0/1 to Router C’s Serial interface S0/0.  Also directly connected to Router C’s fast ether net port Fa0/0 by straight through network cable is another layer 2 switch, connected directly to the switch by straight through network cable is workstation 3 and 4.
